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7-1 HW — Solving Systems of Equations by Graphing

Instructions: Graph the following and tell the coordinates of where they intersect.

3
=—x- 3
=3x-3 y=,%x-6 A
Lo X 2. 43 3. Y= 0
Y= y——5+3 y=—4x+5
Ya Ya Ya
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y=3x-2 3x-2y=8 y=——x+3
=3x+4 > =-2x+3 ¢ 2
y=2x y= 2x+4y=12
Ya Ya Ya
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Instructions: Graph the following and tell the coordinates of where they intersect.

x—y=2 g x—y=3 9 x+y=4
Cx+y=6 S x+y=-1 S y—x=4
Ya Ya Ya
1Y y=2" 1Y
10. y‘(E) 1. 4 12. y‘s(i)
=—x-3
y=x+4 Y 2 y=3x+1
Ya Ya Ya




Review Questions:

For the following Linear Functions:
a) Write the recursive equation
b) Write the explicit
c) Answer the question provided

13. X f(x) a)

5 -10

6 -16 b)

7 22

¢) Find f(12)

14, x f(x) 2)

-4 21

-1 33 b)

0 37

¢) Find x when f(x)=57

15. When it passes through the points (9, 2) and (11, 6)
a)

b)

¢) Find f(-5)

16. a)
. b)

c) Find the y-intercept

L 0 1 2 3 2 X
-14



For the following Linear Functions:
a) Write the recursive equation
b) Write the explicit
c) Answer the question provided

17. Has a slope of —6 and a y-intercept of —2.
a)

b)

c) Find x when f(x):O

18. x f(x) a)
20 2
25 3 b)
30 5

¢) Findx when f(x)=9



